
!"#$"%&'"()($*#"($+%"*$$
,-./01-23.45617$8-9:-1;;1<$=9>;9?6@$2>;.6.627$
AAA<BCD<EF$
$



$$$$$GH(*#$,H(=I!I"#J$,H(I*K%$

L$

‣ ,-2.;$>1709M$93$0N>90$/9$OP$

Q.637R-7$LPST$89$1/-.QN$$

UVWX<YWXZ[\V]^<B_\$$$

H.`.62.$9R$Na1Q322$9R-1>9013.4569b$9-:162>1c22$0@Q`.:9$

9R-1>901627$0$8-9.M3.$8-262;1.3Q7$(-:M9;23.39;$+%"*$61$

9Q6901622$>170M2<$,9Q4.$89/30.-?/.627$Q313NQ1$Na1Q362M1$

0N>$894Na1.3$M13149:$/9MN;.631456@d$e245;90$f2>$M939-9:9$

;9?.3$0@R-135$OgT$e245;90hi$1$31M?.$/-N:2.$;13.-214@$/47$

8-90./.627$!6.b$61Na69:9$M269<$

‣ ,-90./.62.$!6.b$61Na69:9$M269$j$

9M37R-5$j$/.M1R-5$LPST$

$



"1`2$81-36k-@G3-1Q32$89$
a1Q32c1;$



lVEmB^n$onpnE$
G3-1Q32$89$a1Q32c1;$
q  H.?2QQ.-r$s1-M$t.026Q96$
q  G3-161u:9/r$Gv%$LPSO$
q  ,-9/94?23.4569Q35r$wP$;26$

q  K-.b4.-r$xyzruuAAA<{_F|F}n<B_\uAV|Bx~p���F�����|}�$
$

=8.-0@.$e245;$/1.3$>-23.47;$09>;9?69Q35$61R4�/135$>1$3.;i$a39$/.41�3$Q1;@.$
0@/1��2.Q7$ Na.6@.$ 61`.:9$ 0-.;.62i$ 2$ M1M$ Q90.-`1�3Q7$ 0.42M2.$ 61Na6@.$
93M-@327<$ %039-@$ 89M1>@01�3$ -1R93N$ `.Q32$ R4.Q37�2d$ Na.6@d$ 61/$ �945`2;$

1/-966@;$ M9441b/.-9;$ 2$ >18NQM$ Q1;9:9$ M-N869:9$ 2$ /9-9:9:9$ �MQ8.-2;.631$ 0$
2Q39-22$8416.3@<$,9$;.-.$39:9i$M1M$962$8@31�3Q7$-1>:1/135$>1:1/M2$=Q.4.669bi$

SP$ PPP$ Nak6@d$ 2$ 26?.6.-90$ 2>$ SPP$ Q3-16$ 9R�./267�3$ NQ2427$ /47$ 09QQ9>/1627$
R945`9:9$ 0>-@01<$ #d$ >1/1a1$ j$ 61b32$ �9>96$ �2::Q1$ 2$ 896735i$ a39$ Q3923$ 0$ 9Q690.$
;2-9>/1627<$ H.?2QQ.-$ e245;1$ �$ s1-M$ t.026Q96$ 0$ 8-9`49;$ R@4$ e2>2M9;<$

G673@b$ ;13.-214$ R@4$ R4.Q37�.$ Q;9632-9016$ &943.-9;$s.-a.;$ f�%89M1428Q2Q$
Q.:9/67�i$�%6:42bQM2b$81c2.63�h<$
!"#$%&'()(*'$%&)#+,-.$8-2>$�xn�n^Y$�W|nEWVm_WV^$�_BF\nW|VE{$onCmpV^$LPSOi$8-2>$

+.Q320147$ O�PPi$ LPSO$ fs9QM01hi$ 69;261c27$ 0$ e.Q32014.$ �x^_|EFY]C$ �AVEYC$ LPSTi$
8-2>$61$�]Wn\V$�{n$�_W_EC$�AVEYCi$��i$69;261c27$61$l��$�AVEYC$LPST<$



l^VWn|VE{$$
,416.31$
q  H.?2QQ.-r$)1b$H2/$
q  G3-161u:9/r$Gv%$LPST$
q  ,-9/94?23.4569Q35r$wT$;26$

q  K-.b4.-r$xyzCruuAAA<{_F|F}n<B_\uAV|Bx~p���_�l�£o���$
$

s@$?20.;$0$-1>:1-$;2-909:9$M-2>2Q1$2$N81/M1$/Nd1<$s@$>1R@42$9$Q1;9;$
:41069;$>.;69;$8-1024.$j$0Q.$0>12;9Q07>169<$�,416.31�$g$2QQ4./90162.$
61`2d$M9Q;2a.QM2d$2Q39M90i$e245;g0@>90i$8-2>0166@b$8-9RN/235$0$61Q$/Nd$2$

?1?/N$?2>62<$&/2023.456@.$Q�.;M2i$6.3-96N3@.$8.b>1?2$2$8-9;>96@i$
M9Q;2a.QM2.$M1/-@$2>$1-d2090$����i$9:62$;.:18942Q90$93$K9M29$/9$"5�g
¤9-M1$2$3.;6931$32d2d$/.-.0.65<$+249Q9e@$2$1Q3-96103@i$82Q13.42$2$89�3@i$

�M949:2$2$RN//2Q3QM2.$;961d2<<<$

�,416.31�$g$�39$89�32a.QM9.$6189;26162.$9$39;i$a39$89-1$N02/.35i$M39$?.$;@$
.Q35$61$Q1;9;$/.4.i$8.-.Q;93-.35$61`2$9369`.627$/-N:$Q$/-N:9;$2$Q$Q1;2;2$

Q9R9bi$Q$;2-9;$09M-N:$61Qi$2$0Q89;6235i$a39$;@$j$8416.31<$

($

!"#$%&'()(*'$%&)#+,-.$�¥��$o]^\$onCmpV^$LPSTi$�_|Y_BCi$o]^\UnC|$��$
$



§VXnE$$
G9>/13.45$
•  H.?2QQ.-r$sN$s26$¬1b$
•  G3-161u:9/r$Gv%i$K1b0165$LPS�$

•  ,-9/94?23.4569Q35r$�T$;26$

•  K-.b4.-r$xyzCruuAAA<{_F|F}n<B_\uAV|Bx~p��xWUA£�F�§[$

$

+245;$2QQ4./N.3$3.di$M39$Q3974$09$:410.$/02?.627$�G9>/13.42�i$31M?.$

2>0.Q369:9$M1M$�K-.357$8-9;@`4.6617$-.094�c27�i$2QQ4./N.3$2d$2/.2$
2$ 39i$ a.;$ 962$ -NM909/Q3090142Q5<$ =$ 239:.i$ 8.-./$ 61;2$ QM41/@01.3Q7$

a.3M17$ M1-3261$ 9/69:9$ 2>$ Q1;@d$ -.094�c2966@d$ 8-9-@090$
Q90-.;.669Q32<$ =$ 898@3M.$ 896735$ �3N$ �M9Q2Q3.;Ni$ 9c.6235$ ;1Q`31R$
0427627$61$Q90-.;.669.$9R�.Q309i$MN453N-N$2$�M969;2MN$M1M$Gv%i$31M$

2$ 0Q.:9$ ;2-1i$ 1039-@$ e245;1$ 8-90.42$ Q.-2�$ 89/-9R6@d$ 263.-05�$ Q$
M4�a.0@;2$ e2:N-1;2$ -.>9616Q69:9$ 8-9c.QQ1i$ 8-20.-?.6c1;2$ 2$

Q02/.3.47;2$/02?.627<$



�xn$�]W[F^VE]|{$$
G26:N47-69Q35$
•  H.?2QQ.-r$!1:$&94.6Q$
•  G3-161u:9/r$Gv%$LPSL$
•  ,-9/94?23.4569Q35r$�P$;26$

•  K-.b4.-r$xyzCruuAAA<{_F|F}n<B_\uAV|Bx~p�­®_�C£��FT�$
$

$
=$ R42?1b`2.$ /.Q7324.327$ ;@$ Q;9?.;$ Q9>/135$ M9;85�3.-i$ 8-.09Qd9/7�2b$ 89$
09>;9?69Q37;$ a.490.a.QM2b$ 263.44.M3<$ �2926?.6.-27$ 2$ 690@b$ 89/d9/$ M$

;9/.42-90162�$2$8-9:-1;;2-90162�i$1$31M?.$61693.d6949:22$g$M1M2;$9R-1>9;$
0Q.$�39$Q;9?.3$2>;.6235$61`N$?2>65$2$09Q8-2732.$Q.R7$2$Q09.b$;2QQ22~$



lE]W|$�xn$°n[nWY$
,-263.-$RN/N�.:9$
•  H.?2QQ.-r$tN2Q$t98.>i$!?<$*4.b$K024$

•  G3-161u:9/r$Gv%u$LPS�$

•  ,-9/94?23.4569Q35r$SPP$;26$

•  K-.b4.-r$xyzruuAAA<{_F|F}n<B_\uAV|Bx~p�LlT^zS±�]PP$

$

+245;$-1QQM1>@01.3$9$39;i$M1M$O�g8-263.-@$;.67�3$;2-i$>1;.677$
8-9;@`4.669.$8-92>09/Q309$61$/9;1`6..<$"1$8-263.-1d$3.8.-5$;9?69$

618.a13135$0Q.r$93$9-N?27$/9$a.490.a.QM2d$9-:1690<$).-92$e245;1$-1QQM1>@01�3$
9$42a69;$98@3.$/9;1`6.:9$8-92>09/Q301$2$/.41�3$Q092$8-9:69>@$-1>02327$
26/NQ3-22<$(62$Q3-.;73Q7$Q/.4135$O�g8-26326:$/9Q3N86@;i$a39R@$M1?/@b$;9:$

098493235$Q092$;.a3@$2$Q3135$Q9>/13.4.;$a.:9g39$6909:9<$

$$



°_pn²�W[]WnnE]W[$$
t�R905$2$26?.6.-@$
•  H.?2QQ.-r$K962Q410$�-2Q390$
•  G3-161u:9/r$).-;1627i$+26476/27i$�94:1-27u$LPS�$
•  ,-9/94?23.4569Q35r$wS$;26$

•  K-.b4.-r$xyzCruuAAA<{_F|F}n<B_\uAV|Bx~p����¥�B°³­oC$

+245;$�t�R905$2$26?.6.-@�$/47$0Q.di$M39$d935$-1>$2Q8@3@014$aN0Q309$
6.N0.-.669Q32$0$Q.R.i$M39$04�R474Q7$/9$R.Q81;73Q301$2$R974Q7$2/32$61$
Q02/162.<$%039-$e245;1$0;.Q3.$Q9$Q092;2$:.-97;2$8@31.3Q7$0@7Q6235i$

a39$?.$ 31M9.$ 4�R905$ 2$ 04�R4.669Q35$ 2$;9?69$ 42$ 2d$ M963-942-90135<$
=Q.$ 3-N/69Q32$ 04�R4.669Q32$ 2$ 0>12;99369`.62b$ -1QQ;13-201�3Q7$ Q$
39aM2$ >-.627$ 26?.6.-90<$ ).-92$ e245;1$ -1QQM1>@01�3$ 93$ 39;i$ a39$

8.-29/$04�R4.669Q32$;9?69$-1>/.4235$61$O$e1>@i$2$ N30.-?/1�3i$ a39$
Q89Q9R69Q35$04�R4735$0$Q.R7$j$�39$610@Mi$M939-@b$;9?69$NQ09235<$



'N0Q30.6617$;13.;132M1$
$•  H.?2QQ.-r$IM13.-261$I-.;.6M9$

•  G3-161u:9/r$).-;1627i$H9QQ27uLPSL$

•  ,-9/94?23.4569Q35r$�P$;26$

•  K-.b4.-r$xyzruuAAA<{_F|F}n<B_\uAV|Bx~p�­w���]°��V[$$

$
�945`26Q30N$ 4�/.b$ ;13.;132M1$ 8-./Q31047.3Q7$ 1RQ3-1M369bi$ >1:1/9a69bi$
Q49?69b$2$6./9Q7:1.;9b<$#$0$ 39$?.$0-.;7$961$�$�39$ 393$ 7>@Mi$61$ M939-@;$
;2-$-1>:901-201.3$Q$61;2<$s13.;132M1$;9?.3$R@35$aN0Q30.669b<$&$6..$.Q35$
0MNQi$ 961$ >0Na23$ 2$ 2;..3$ c0.3<$ I.$ ;9?69$ 9�N3235$ 2$ 961$ ;9?.3$ 3-9:135¢$
+245;$ �'N0Q30.6617$ ;13.;132M1�$ Q9Q3923$ 2>$ 6.QM945M2d$ �82>9/90<$ ,9$
9/69;N$61$M1?/9.$aN0Q309r$0MNQi$>-.62.i$9R96762.i$9Q7>162.i$Q4Nd$2$aN0Q309$
-10690.Q27i$ 8-2$ �39;$ 0$ e9MNQ.$ 062;1627i$ 8-.?/.$ 0Q.:9i$ 42a69Q35<$
�'N0Q30.6617$;13.;132M1�$�$�39$4�/QM2.$2Q39-22i$89-3-.3@$Q$613N-@i$9a.65$
;.3M9$0@d01a.66@.$2>$?2>6.669:9$8939M1<$$



�x_E|$o]^\Ci$¦][$�YnVC$
$
$

•  )9/r$LPSO$

•  G1b3$8-9.M31r$AAA<U_BFCU_EAVEY´^\C<B_\$

$

,-9.M3$��$o­���$o­�����r$�x_E|$o]^\Ci$¦][$�YnVC$j$�39$Q.-27$e245;90$9R$

2>9R-.313.47d$ 2$ 690139-1di$ a52$ 2>9R-.3.627$ 2$ 2/.2$ 2>;.6242$ ;2-<$
%039-@$ e245;90$ g$ 4Na`2.$ Q90-.;.66@.$ -.?2QQ.-@g/9MN;.63142Q3@i$

89R./23.42$0./N�2d$;.?/N61-9/6@d$M269e.Q32014.b<$*9;81627$�nWnEV^$
�^nB|E]BC$ �_\zVW{$ 0$ Q93-N/62a.Q30.$ Q$ M269Q3N/2.b$ �]Wn^VW$ 898-9Q241$ 2d$
Q6735$3-.d;26N36@.$e245;@<$$

K-.R901627$M$Q9>/162�$e245;90$R@42$9a.65$8-9Q3@r$-.?2QQ.-@$/94?6@$
Q6735$2Q39-2�$2>9R-.313.47i$Na.69:9$242$2/.2i$M939-17$;9?.3$2>;.6235$
;2-<$ +245;@$ R@42$ 8-./Q3104.6@$ 61$ M-N86@d$ ;.?/N61-9/6@d$

M269e.Q320147d$0$LPSL$2$LPSO$::<$,9M1>@$R@42$8-90./.6@$0$STP$Q3-161d<$
G8.c21456@b$ 89M1>$ Q9Q3974Q7$ 61$ 61Na69b$ M96e.-.6c22$ 0$ %631-M32M.<$

+245;@$ 8-9/94?1�3$ 894Na135$ 8-2:41`.627$ 93$ e.Q32014.b$ 89$ 0Q.;N$
;2-N<$ )4106@b$ 26/2M139-$ NQ8.d1$ 8-9.M31$ 0$ 39;i$ a39$ 2Q39-22i$
-1QQM1>166@.$ 0$ e245;1di$ 0Q.$ 31M$ ?.$ 0/9d69047�3$ >-23.4.b$ 0$ -1>6@d$

Q3-161d<$$

+245;@$ Q9R-16@$ 0$ L$ R49M1$ 89$ �P$;26N3<$ *1?/@b$R49M$/.;96Q3-2-N.3Q7$
93/.4569<$$



(d9362M2$>1$N-169;<$
*-1Q697-QM9.$/.49$:.949:90$
$ •  ,-92>09/Q309r$H9QQ27gS$

•  G3-161u:9/r$H9QQ27uLPS�$

•  ,-9/94?23.4569Q35r$TL$;26$

$
*-1Q697-QM9.$/.49$:.949:90$�$9/61$2>$Q1;@d$:-9;M2d$2$>1:1/9a6@d$
2Q39-2b$Q90.3QM9b$61NM2$¥¥$0.M1<$µN-6142Q3@$3.4.M16141$�H9QQ27gS�$
-.`242$8-90.Q32$Q9RQ30.669.$-1QQ4./90162.i$-.>N453139;$M939-9:9$
Q314$ /9MN;.631456@b$ e245;$ �(d9362M2$ >1$ &-169;<$ *-1Q697-QM9.$
/.49$:.949:90�<$$$
$
"1$ /09-.$ S���$ :9/<$ =./N�2.$ ;2-90@.$ /.-?10@$ R5�3Q7$ 61/$
Q9>/162.;$139;69:9$9-N?27<$ $(3$-.>N4531390$892QM1$-1/291M32069b$
-N/@$ >102Q23$ RN/N�..$ G90.3QM9:9$ G9�>1<$ #$ 2;.669$ 0$ �39$ 0-.;7$
8-92Qd9/23$ 81-1/9MQ14569.$ 2$ 6.9R�7Q62;9.$ Q9R@32.<$ "*=!$
8-909/23$ ;1QQ90@.$ 1-.Q3@$ Na.6@dg:.949:90<$ =$ a.-69;$ Q82QM.$ 0.Q5$
c0.3$ Q90.3QM9b$ :.949:22<$ 'N/902�617$ 9`2RM1$ 242$ -.145617$ 0261~$
'39$89Q4N?249$8-2a269b$1-.Q390$2$0$a.;$9R026242$Na.6@d~$
$



$

'N/.Q1$H9QQ22$
$
$
•  ,-92>09/Q309r$K.4.M1614$�s97$8416.31�$2$HNQQM9.$:.9:-1e2a.QM9.$9R�.Q309$

•  G3-161u:9/r$LPSS$

$
$

$

G.-27$ /9MN;.631456@d$ e245;90$ �'N/.Q1$ H9QQ22�$ $ 89Q07�.61$ Q1;@;$ 263.-.Q6@;$

;.Q31;$ 61$ M1-3.$ H9QQ22i$ M939-@.$ 7047�3Q7$ :9-/9Q35�$ 61`.b$ Q3-16@$ 2$ 8-204.M1�3$
9Q9R9.$ 062;162.$ 8N3.`.Q30.662M90i$ c.623.4.b$ 8-2-9/@i$ Na.6@d$ 2$ 0Q.d$
263.-.QN��2dQ7$61R4�/.627;2$2$2>Na.62.;$8-2-9/@$2$�369:-1e22$Q09.:9$M-17<$

$
H9QQ2bQM17$>.;47$0Q.:/1$Q410241Q5$Q092;2$Q9M-902�1;2$$g$N62M1456@;2$8-2-9/6@;2$

2$ -NM9309-6@;2$ 81;7362M1;2<$ (/61M9$ ;149i$ M39$ 02/.4$ 2d$ Q092;2$ :41>1;2i$ 0./5$
>1a1Q3N�$ 962$ -1Q8949?.6@$ 0$ 3-N/69/9Q3N86@d$ 2$ N/14.66@d$ N:94M1d$ 61`.b$ H9/26@<$
(/61M9i$ �393$ R.Q8-.c./.636@b$ 8-9.M3$ /1.3$ >-23.47;$ 09>;9?69Q35$ 89R42?.$

89>61M9;235Q7$ Q$ Q1;@;2$ M-1Q20@;2$ 2$ >61a23.456@;2$ /9Q398-2;.a13.4569Q37;2$
93a2>6@<$



*@>@4g*N-1:269<$,9Q4./62.$/62$/-.062d$
c20242>1c2b$
•  ,-92>09/Q309r$ K.4.M1614$ �s97$ 8416.31�$ 2$ HNQQM9.$

:.9:-1e2a.QM9.$9R�.Q309$

•  G3-161u:9/r$LPSL$

¬.45$ e245;1$ j$ 89M1>135$ 9d-166N�$ 1-d.949:2a.QMN�$ �MQ8./2c2�$ 0$
K@0N$2$*-1Q697-QM9;$M-1.$M1M$R.Q8-.c./.6369.$8-./8-2732.i$>1/1a1$
M939-9:9$0$3.a.62.$a.3@-.d$Q.>9690$-1QQ4./90135$81;7362M2$/-.062d$
61-9/90i$8-9?2010`2d$61$3.--239-27d$0$3.a.62.$LPP$0.M90<$
$
=$ �MQ8./2c22$ LPSL$ :9/1$ 8-26749$ Na1Q32.$ 9M949$ LPP$ 094963.-90$ Q9$
0Q.:9$ ;2-1$ 2$ 9M949$ �P$ Na.6@d<$ =$ �39;$ Q.>96.$ 1-d.949:1;2$ 61b/.6@$
6.9Q89-2;@.$ /9M1>13.45Q301$ 39:9i$ a39$ QM2e@$ >1-9/242Q5$ 2;.669$ 61$
3.--239-22$ K@0@i$ 2$ 0$ 89Q4./Q302.$ -1Q8-9Q3-16242Q5$ 89$ 0Q.b$ %>22$ 2$
¶:9g=9Q39a69b$ a1Q32$ I0-98@<$ (Q690N$ e245;1$ Q9Q310242$ Q�.;M2$ Q$
;.Q31$ -1QM989M$ MN-:1690i$ ?2>65$ 0$ 094963.-QM2d$ 41:.-7d$ Q3N/.6390i$
M9;;.631-22$Na.6@d$89$8909/N$61b/.66@d$1-3.e1M390<$K1M?.$0$e245;$
09`42$ Q�?.3@$ 9$ Q31-99R-7/c1di$ 8-9?201��2d$ 61$ 3.--239-22$ K@0@i$
`1;161d$2$3N026c1di$0./N�2d$3-1/2c2966@d$M9a.09b$9R-1>$?2>62<$
$
$
$



$
$

G,%G#�($�%$&'%GK#I$=$,H(I*KI¸$

$

$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$*9;16/1$e.Q320147$+%"*$
$$$$$$$$$$$$$$$$$$$$$$$$$$AAA<BCD<EF$

$


